


7+( 3/$1(

�� )OLS WKH SDSHU RYHU VR WKDW WKH SULQWHG IROG OLQHV DUH IDFLQJ GRZQ�

�� 7XUQ WKH FRUQHUV EDFN WR WKH RXWVLGH IROG OLQHV DQG FUHDVH� 5HSHDW IRU WKH QH[W VHW RI IROGV�

�� )ROG XS DORQJ WKH FHQWHU OLQH VR WH[W LV LQVLGH DQG JUDSKLFV DUH RQ WKH RXWVLGH�

�� )LQDOO\ IROG GRZQ HDFK ZLQJ�

�� 7KURZ EULVNO\ DQG VOLJKWO\ DQJOHG XS�

7+( $'-867$%/( )/$36

�� &XW RQ VLGHV�

�� )ROG XS WR PDNH WKH SODQH ULVH���IROG GRZQ WR PDNH WKH SODQH GURS�

1RWH� :KHQ SULQWLQJ RQ SULQWHUV WKDW UHTXLUH D ODUJH ERWWRP PDUJLQ� WKH DGMXVWDEOH IODSV PD\ QRW SULQW�

7+( 67,&.�83 7$,/

�� %ULQJ WKH WZR DQJOHG IROG OLQHV WRJHWKHU�

�� &UHDVH DORQJ WKH WRS�

7+( )$67(1,1* &/,3

�� &XW RQ WKH VLGHV�

�� )ROG WR RQH VLGH WR KROG WKH SODQH WRJHWKHU�


